4% f8 / External view

D view

HEBAZA / Components
E view No. £ %5 / Part name $E / Pcs # & / Material - REAWLE / Color-Finish
1 $173— / Cover 1 7 JLZHR /Aluminium A1100P t1.5 Ay JLIN—EE%E / Metallic Silver Painted
2 ¥ —L / Base 1 7 LSRR /Aluminium AT100P t1.5 | A3 wH L )LN— % / Metallic Silver Painted
| e - = = —~X o 3 a—74—#H—K / Corner Guard 8 TPE TS5 -5 L—+RAE—-LwE / Black-Gray-Navy-Red
P/ \* 4 HA+E RGRA TR ILEMA x 8) 18 % =@mE /A
screw (Hexagon socket head M4 - 8) steel Black trivalent chromate
5 HYZF / Carrying Handle 1 PU. PA. ABS, Steel J5w4 -4 L— / Black*Gray
6 WFRAFER (FREVEL T M5 x 8) 4 ES ={fyaAr—k
8 screw (Panhead tapping M5 - 8) Steel Trivalent Chromate
o MAN—E¢Ev—NDEMERMIETY , / Inner side of cover and base are conductivefinished.
AN L /e
S X S 1
26
e
A view C view
@ 2
B { —
= a_E- ] o= =%
7 » T g F} -7 €F|
| |
© o o l l
= @ ot I I
| f N i i )
jL[ 2 [ » -HHﬂﬂIIHIIIIIIIIIHIIIIIIIIH {
A v | SRR __/
260 300
43 190 43 43 230 43
276 316 E view )
B view
F view
'yl e
P/ \‘#

KA—F—HA—FFTr—RER£FHEDTT,

H Corner guard should fasten together with enclosure when assembling.

F view

itk (BUFEXREDOQ) / Color Type (End of product numberd)

[TAKACHI] #X&#tahFEHIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title

a—F—H R —2
METAL CASE with CORNER GUARD

o]

== —_ —_h K H Rr
ie= / Code ZMZS / Body a—+ 73!_ K / Comer guard |EXF /\ Carrying Handle o V—— T HE orered | BE Prodst momner RE/Scale
SBB ABRYyYLILsN— / Metallic silver 7597 / Black 735v% / Black 1-
: MCG26-18-30SC1 ] 0
SGG ARy JLiN— / Metallic silver JL— / Gray 4'L— / Gray
SNG ARy JLiN— / Metallic silver FAE— / Navy S'L— / Gray iR H#%H x - 1/ 3
SRG AR5 )LIN— / Metallic silver LYK / Red 4'L— / Gray fERL B /Date 2018/11/13




$H/\— / Cover = view
6-35.5

4-M4x0.7/N—1) 4 N T
4-M4x0.7Burring

15

D view A view

180

1.5

F view

15

15

260

127.5 28

28

1.5

G(2:1)
4
\
\ <
] o
/ <
3
C view 2-M4x0.7/8—1)> 5 T B view
2-M4x0.7Burring
15 15
Lo
2-@5.5
G
P A 555E5505058580 EEEEEEEEEE?E@ o
50 200 50
EEEENE
300 Inside Conductivefinished
md/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCG26-18-30SL1[1

RFE/Scale
1:5

{EBL B /Date 2018/11/13

2 /3




D view

=]

EESENE

4-M4x0.7/8—) 5 T

4-M4x0.7Burring

Inside Conductivefinished

e

—

E view

134 13.4
= 1 e
o il 1
206.6
A view
<
(o)
~
256.8
F view

12

12

C view

2-M4x0.7/N—1)> 5 T

2-M4x0.7Burring

B view

10 10
o~
o ka sl
15 15
300
fn4a/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCG26-18-30S

RFE/Scale
1:5

{EBL B /Date 2018/11/13

37/ 3




